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FOREWORD

The National Examinations Council of Tanzania is pleased to issue this
Candidates' Items Response Analysis (CIRA) Report on the Advanced
Certificate of Secondary Education Examination (ACSEE) 2023. The report
provides feedback to students, teachers, parents, policy makers and the public
in general on the performance of the candidates and the challenges they
encountered in attempting the examination questions.

The Advanced Certificate of Secondary Education Examination (ACSEE)
marks the end of two years of Advanced Secondary Education. It is a
summative evaluation which, among other things, shows the effectiveness of
the education system in general and the education delivery system in particular.
The candidates' responses to the examination questions indicate what the
education system was able or unable to offer to the candidates in their two
years of Advanced Secondary Education.

The report provides an opportunity to prospective candidates and teachers to
learn from the previous candidates' strengths and weaknesses in attempting
various examination questions. The report will enable education administrators,
school managers and other education stakeholders to identify proper measures
to be taken in order to improve the candidates' performance in future
examinations.

The report shows the strengths and weaknesses of the candidates in answering
examination questions by using statistical data from the candidates' scores for
individual questions and the selected extracts of candidates' responses.

The Council would like to express its appreciation to all who participated in the
preparation of this report.

Dr. Said A. Mohamed
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

The examination for Accountancy subject for Advanced Certificate of
Secondary Education which was done in May 2023, was prepared in
accordance with the 2009 Accountancy syllabus and the Revised
Examination Format of 2019. The examination had two papers, namely
153/1 Accountancy 1 and 153/2 Accountancy 2.

Each paper consisted of eight (8) questions distributed in two sections: A
and B. The candidates were required to attempt any seven (7) questions in
each paper by answering all questions in section A and three (3) questions
from section B. Each question in section A had ten (10) marks and in
section B, each question had twenty (20) marks.

The general performance of candidates in Accountancy subject in ACSEE
2023 examination was good since 1,544 (99.68%) candidates passed.
Despite the good performance in 2023, such performance has decreased by
0.25 per cent when compared with 2022, where 1,374 (99.93%) candidates
passed out of 1,380 who sat for the examination.

The report examines the requirement of each question and highlights the
strengths and weaknesses observed in the candidates’ responses. Extracts of
candidates’ responses are included to enable education stakeholders to see
samples of correct and incorrect responses. Finally, the report provides an
analysis of the candidates’ performance per topic, conclusions,
recommendations and appendix which show the performance of the
candidates in each topic.

In this report green, yellow and red colors are used in graphs and charts to
show good, average and weak performance respectively. The performance
is considered good if a candidate scored from 6 to 10 marks for section A
questions and from 12 to 20 marks for section B questions (60% to 100%).
It is considered average if the candidates scored from 3.5 to 5.5 for section
A questions and from 7 to 11.5 for section B questions (35% to 59%).
Moreover, the performance is considered weak if the candidates scored
from 0 to 3 marks for section A questions and from 0 to 6.5 for section B
questions (0% to 34%).



2.0 ANALYSIS OF THE PERFORMANCE OF THE CANDIDATES IN
EACH QUESTION

2.1

2.1.1

153/1 Accountancy 1

The paper assessed seven (7) topics which are The Nature and
Context of Accounting, Correction of Accounting Errors, Financial
Statements Analysis and Interpretation, Preparations of Financial
Statements, Branch Accounting, Investment Accounts and
Depreciation and Disposal of Non-Current Assets. The topics were
assessed in eight (8) questions. The candidates’ response analysis
for each question is as follows:

Question 1: The Nature and Context of Accounting

The item was constructed from the topic of The Nature and Context
of Accounting. 1t required the candidates to describe the following
accounting terms:

(a) Reserve

(b) Provision

(©) Revenue reserve
(d) Capital reserve

A total of 1,551 (100%) candidates responded to the question. The
analysis of the candidates’ performance shows that 251 (16.18%)
candidates scored from 0 to 3, marks indicating weak performance.
483 (31.14%) candidates scored from 3.5 to 5.5 marks, which is an
average performance, and 817 (52.68%) scored from 6 to 10 marks,
which is good performance.

Generally, the performance of candidates in this item was good
since 1,300 (83.82%) candidates passed by scoring from 3.5 to 10
marks while 251 (16.18%) failed by scoring from 0 to 3 marks as
shown in Figure 1.
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Figure 1: The Performance of the Candidates in Question 1

The analysis showed that the candidates who scored from 6 to 10
marks were able to give correct explanations of the four accounting
terms provided. These good responses could be attributed to the
candidates' sufficient knowledge of the nature and context of
accounting. Extract 1.1 is a sample of a correct response from one
of the candidates.
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Extract 1.1: A sample of a correct response to Question 1

In extract 1.1, the candidate provided correct explanations on the four

accounting terms provided.

The candidates who scored from 3.5 to 5.5 marks provided
explanations on the two or three concepts but lacked clarity on such

concepts.

Further analysis shows that the candidates who scored from 0 to 3
marks provided irrelevant explanations on the given concepts. For
example, one candidate wrote incorrect explanations on Reserve as
the stock or assets which are served by the firm during the year of a
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business. This explanation was not correct because a reserve is not a
stock or asset but it is portion of earnings, receipts or other surplus
of an enterprise whether capital or revenue in nature.

In the case of the term provision, the candidates described it as a
process of determining the actual real cost of the asset, debts and
discounts instead of any amount written off or retained by way of
providing for depreciation or diminution in the value of assets or
providing for any known liability.

The term revenue reserve was explained as a reserve which served
by reduce the cost of maintained or repairs, instead of reserve
which is not a capital and which is therefore available for
distribution as dividend.

The candidate further described Capital reserve as a reserve served
or kept when the purchases during the year, in steed of a reserve
created out of capital profits such as profits on sale of non-current
assets, profits prior to incorporation, premium on issue of shares.
Extract 1.2 presents a sample of an incorrect response from one of
candidates.
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Extract 1. 2: A sample of an incorrect response to Question 1
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2.1.2

In extract 1.2, the candidate provided irrelevant explanations on:
Reserve, Provision, Revenue reserve, and Capital reserve.

Question 2: The Nature and Context of Accounting

The question aimed at testing the candidates’ competence in
recognising nature and context of accounting and its concepts. The
question required the candidates to read the given cases and state
the basic accounting concepts and conventions being violated.

A total of 1,551 (100%) candidates attempted the question. The
result shows that 550 (35.46%) candidates scored from O to 3 marks
indicating weak performance, 523 (33.72%) candidates scored from
3.5 to 5.5 marks which is an average performance and 478 (30.82%)
candidates scored from 6 to 10 marks, which is good performance.

Generally, the performance of the candidates in this question was
average since 1,001 (64.54%) candidates passed by scoring from
3.5 to 10 marks and 548 (35.46%) failed by scoring from 0 to 3
marks. The general performance of the candidates in this question is
shown in Figure 2.
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Figure 2: The Performance of the Candidates in Question 2

The analysis showed that most of the candidates who scored from 0
to 3 marks failed to describe the basic accounting concepts or
conventions being violated. This implies that they lacked
knowledge on the topic of nature and context of accounting. Extract
2.1 is a sample of a poor response from one of the candidates.
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Extract 2.1: A sample of an incorrect response to Question 2

In Extract 2.1, the candidate stated wrongly the basic accounting
concepts or conventions being violated in each of the cases given.

Further analysis shows that the candidates who scored from 3.5 to
5.5 marks were able to state two to four accounting concepts
correctly. However, they failed to state other concepts due to
insufficient knowledge on the topic of nature and context of
accounting.

On the other hand, the candidates who scored from 6 to 10 marks
were able to state the basic accounting concepts or conventions that
were violated in the cases given. Their responses indicate that they
had sufficient knowledge on the nature and context of accounting.
Extract 2.2 is a sample of a response from a candidate who
performed well in this question.
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Extract 2.2: A sample of a correct response to Question 2



2.1.3 Question 3: Correction of Accounting Error

The question required the candidates to use the financial statement
of Sikinde Ltd for the year that ended on 31" December 2020 and
the accounting errors discovered to prepare journal entries and
suspense account to correct the errors.

A total of 1,551 (100%) candidates attempted the question. The
analysis of the candidates’ performance shows that 955 (61.57%)
candidates scored from 0 to 3 marks indicating weak performance,
364 (23.47%) candidates scored from 3.5 to 5.5 marks, which is an
average performance, and 232 (14.96%) candidates scored from 6 to
10 marks, which is a good performance.

Generally, the performance of the candidates in this question was
weak since only 596 (38.43%) candidates scored from 3.5 to 10
marks while 955 (61.57%) scored from 0 to 3. Figure 3 shows the
performance of the candidates in this Question 3.
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Figure 3: Candidates Performance in Question 3

The data analysis shows that the candidates who scored from 0 to 3
marks failed to interpret the question. The candidates could not
identify some of accounts to be affected by the given accounting
errors. They either used irrelevant accounts or failed to understand
the question due to lack of knowledge about the correction of error
by using journal entries. Other candidates used wrong formulas to
calculate the required information, as a result, they recorded wrong
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amounts in their journal entries. Extract 3.1 is a sample of a poor
response from one of the candidates.
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Extract 3.1: A sample of an incorrect response to Question 3

In extract 3.1, the candidate posted wrong entries and amounts in
the journal entries.

On the other hand, the candidates who scored averagely prepared
the journal entries but failed to correct some errors from Sikinde Ltd
for the year that ended on 31" December 2020.

The candidates who had good performance managed to correct the
accounting errors. They also managed to open and post journal
entries, and most of them managed to identify the accounts affected
by the given accounting errors and made appropriate entries in the
general journal to correct them.

These candidates also made appropriate adjustments to the entry
accounts and used appropriate formulas to compute the required
amounts of bad debts account and provisions of doubtful debts
account in the increase and discount allowed. Extract 3.2 is a
sample of a good response.
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Extract 3.2: A sample of a correct response to Question 3

Extract 3.2, shows that the candidate prepares correct journal
entries.

2.1.4 Question 4: Financial Statements Analysis and Interpretation

The question intended to assess the candidates’ competence on the
computation of relevant accounting ratios. Specifically, the question
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required the candidates to use the financial ratios provided to
prepare Misunah Financial Ratios on Gross profit as percentage of
sales, Net profit as a percentage of sales, Net profit as a percentage
of capital employed, Rate of Stock turnover, Current ratio, Acid test
ratio, Total assets turnover, Interest Cover, Current assets turnover
and Debtors collection period in number of days.

A total of 1,551 (100%) candidates attempted the question. The
analysis of the candidates’ performance shows that 49 (3.16%)
candidates scored from 0 to 3 marks indicating weak performance,
192 (12.38%) candidates scored from 3.5 to 5.5 marks, which is an
average performance, and 1,310 (84.46%) candidates scored from 6
to 10 marks, which is a good performance.

Generally, the performance in this question was good since 1,502
(96.84%) candidates passed by scoring from 3.5 to 10 marks. The
performance of the candidates in this question is summarised in
Figure 4.

Scores
m0-3
O3.5-5.5

m6.0-10

Figure 4: The Candidates' Performance in Question 4

The candidates with good performance showed relevant formulas to
use when computing the required accounting ratios. They used the
formulas correctly as per extracted data from the financial
statements to compute the ratios required. Therefore, the accounting
ratios were computed accurately. Extract 4.1 is a sample of a good
response.
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Extract 4.1: A sample of a correct response to Question 4
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In Extract 4.1, the candidate demonstrated a good understanding of
the question by computing accounting ratio properly and scored full
marks.

Furthermore, the candidates with average performance were able to
meet the requirements of the question. They used appropriate
formulas which enabled them to extract the relevant data from the
given financial statement ratio. However, the amounts to be posted
to the financial ratios computed contained correct and incorrect
amounts which is an indication of limited computation skills and
improper application of appropriate formulas.

On the other hand, the candidates with weak performance failed to
identify the appropriate formulas to be used to compute the required
accounting ratios. Others managed to identify the appropriate
formulas but failed to extract the relevant data from the financial
statement provided. It was also observed that some candidates
applied wrong data in correct formulas, hence wrong computations.
Other candidates confused the formulas for different accounting
ratios and made inaccurate computations of the required amounts.
Extract 4.2 is a sample of a partially correct response from one of
the candidates.

13
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Extract 4.2: Sample of partially correct response to Question 4

In extract 4.2, the candidate applied some wrong formulas for
computing accounting ratios and remembered only three formulas
out of the ten asked. However, the candidate managed to answer
parts A and B correctly.

Question 5: Preparation of Financial Statements

This question intended to assess the candidates’ competence in the
preparing of income statement in accordance with International
Accounting Standards. Specifically, the question required the
candidates to prepare Siera Mobatis income statement and statement
of financial position for the year that ended on 31* December, 2020
by using the information given from the Trial balance and
additional information extracted from the books of Siera Mobatis.

14



A total of 1,518 (97.87%) candidates attempted the question. The
analysis of the candidates’ performance shows that only 2 (0.13%)
candidates scored from O to 3 marks, which is weak performance,
57 (3.76%) candidates scored from 3.5 to 5.5 marks, which is an
average performance and 1,459 (96.11%) candidates scored from 6
to 10 marks, which is a good performance.

Generally, the performance of the candidates in this question was
good since 1,516 (99.87%) candidates passed by scoring from 7 to
20 marks. Figure 5 shows the performance of the candidates in this
question.

0.13% 1 ~376%

Scores
m0-65
Oo7-11.5
m12-20

96.11%

Figure 5: The Performance of the Candidates in Question 5

The candidates who had good performance prepared income
statement and statement of financial positions in their proper
formats and they analysed the information provided in the question
into elements of both statements. Also, these candidates made
necessary adjustments accurately and most of the elements of
income statements. In addition, the candidates presented properly
the incomes and expenses in the income statement of Siera Mobatis
Income statement and Financial position for the year that ended on
31% December, 2020 respectively. Extract 5.1 is a sample of a
correct response from one of the candidates.
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Extract 5.1: A sample of a correct response to Question 5

In Extract 5.1, the candidate managed to prepare a correct income
statement and statement of financial position as per requirement of
the question.

On the other hand, the candidates with average performance were
able to prepare the extract of income statement. They were also able
to compute the amounts of provision for doubtful debts, and other
adjustments like wages, depreciations of plant and machinery and
motor vehicle. They also made appropriate adjustments for accruals
and prepayments for water and electricity, general expenses and
rent and rates. However, some of their recorded amounts were
wrong, which made them score averages marks. These responses
indicate that the candidates had satisfactory knowledge of
accounting for financial statements.

Moreover, few candidates who had weak performance failed to
make adjustments like water and electricity, rent and rates. Instead
of adding accrued amount they deducted, and instead of deducting
prepaid amount, they added. On top of that, they failed to determine
the amount of provision for doubtful the debts to be transferred into
financial statements and calculations of amounts of depreciations of
plant and machinery. They failed to open all of the required
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accounts; they opened trading account which is out of international
accounting system. Another weakness observed from these
candidates was failure to prepare the income statement account
according to the International Accounting Standards. Extract 5.2 is a
sample of incorrect responses from one of the candidates.
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Extract 5.2: A sample of an incorrect response to Question 5

In Extract 5.2, the candidate entered wrong amounts in trading
account which he/she called income statement.

2.1.6 Question 6: Branch Accounting

This question intended to assess the candidates’ ability to prepare
relevant books of accounts for the branch stock with two columns
18



(branch debtors account and branch income statements) for the year
that ended on 31 December 2020. Specifically, the question
required the candidates to use the information provided to prepare
the accounts given, which were: Branch stock account with two
columns for recording the goods at invoice price and cost price
respectively, branch debtors account and branch income statement.

A total of 1,219 (78.60%) candidates attempted the question. The
analysis of the candidates’ performance shows that 57 (4.68%)
candidates scored from 0 to 3 marks, indicating weak performance,
247 (20.26%) candidates scored from 3.5 to 5.5 marks, which is an
average performance, and 915 (75.06%) candidates scored from 6 to
10 marks, which is a good performance.

Generally, the performance of the candidates in this question was
good since 1,162 (95.32%) candidates passed by scoring from 7 to
20 marks. Their performance is illustrated in Figure 6.
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Figure 6: The Performance of the Candidates in Question 6

The candidates with good performance were able to open branch
stock with two columns for recoding goods at invoice price and cost
price, branch debtors account, and branch income statement. Also
they were able to make the necessary adjustments record to all the
given transactions in the respective accounts. Extract 6.1 presents a
sample of a good response to Question 6.
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Extract 6.1: A sample of a correct response to Question 6

In extract 6.1, the candidate prepared correct branch stock account
with two columns for recording goods at invoice price and cost
price, branch debtors and branch income statement accounts. He/she
also made necessary adjustments records to all the given

transactions in the respective accounts.

Further analysis revealed that candidates with average performance
were able to prepare accounts for branch stock with two columns
and branch debtors but failed to post all the required entries in
branch income statement.
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Moreover, the candidates who had poor performance failed to
prepare any of the required accounts. This indicates that the
candidates lacked knowledge and skills in branch accounting. They
also failed to compute the correct amounts of transactions and
reversed most of the entries when posting to the specified accounts.
Extract 6.2 is a sample of a partially correct response from one of
the candidates.
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Extract 6.2: A sample of a partially correct response to question 6

In Extract 6.2, the candidate posted part of the required entries in
the branch income statement and managed to correctly post part of
the entries in all accounts prepared.

2.1.7 Question 7: Investment Account

The question aimed at assessing the candidates’ ability to prepare an
investment account. Specifically, the question required the
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candidates to use the information provided to prepare 6 percent
government stock investment account in the books of Mr. White for
two years that ended on 31% December, 2019 and 2020.

A total of 1,020 (66.02%) candidates attempted the question. The
analysis of the candidates’ performance shows that 84 (8.20%)
candidates scored from 0 to 3 marks, indicating weak performance,
209 (20.41%) candidates scored from 3.5 to 5.5 marks, which is an
average performance and 731 (71.39%) candidates scored from 6 to
10 marks, which is a good performance.

Generally, the performance of the candidates in this question was
good since 940 (91.80%) candidates passed by scoring from 7 to 20
marks. Their performance is summarised in Figure 7.
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Figure 7: The Performance of the Candidates in Question 7

The candidates who had good performance were able to prepare
stocks investment account, analyse and separate the elements of ex-
interest and cum-interest with calculations of goods bought and
goods sold, and post to proper columns, namely nominal, interest
and capital columns. Such responses suggested that the candidates
had adequate skills and knowledge in preparing stocks investment
accounts. Extract 7.1 is a sample of a good response from one of the
candidates.
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Extract 7.1: A sample of a good response to Question 7

In extract 7.1, the candidate correctly prepared stocks investment
account for the financial years which ended on 31% December 2019

and 2020.

Furthermore, the candidates who had average performance

displayed limited knowledge on how to prepare investment account.
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They failed to analyse and separate some of the elements of ex-
interest and cum-interest with calculations of goods bought and
goods sold. Thus some other amounts were not placed in the proper
nominal, interest and capital columns.

On the other hand, the candidates with poor performance failed to
understand the question. As a result, they were not able to prepare a
correct investment account. Also they failed to differentiate between
the amounts to be recorded in nominal, interest and capital columns.
Their responses contained a mixture of correct and incorrect
answers. As a result, they posted wrong amounts in those columns.
Such responses indicate that the candidates had little knowledge on
the preparation of investment account. Extract 7.2 is a sample of
incorrect response from one of the candidates.
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Extract 7.2: A sample of an incorrect response to Question 7

In Extract 7.2, the candidate prepared investment account but posted
wrong amounts in profit, income statement, and bank.
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2.1.8 Question 8: Depreciation and Disposal of Non-Current Assets

The question intended to assess the candidates’ ability to prepare
assets account, provision for depreciation on assets account and
disposal of non-current assets. Specifically, the question required
the candidates to use the information provided to prepare the
machinery accounts, provision for depreciation on machinery
account for the four years that ended on 31% December 2017, 2018,
2019, 2020, and the machinery disposal account.

A total of 892 (57.51%) candidates attempted the question. The
analysis of the candidates’ performance shows that 220 (24.66%)
candidates scored from 0 to 3 marks, indicating weak performance,
529 (59.31%) candidates scored from 3.5 to 5.5 marks which is an
average performance, and 143 (16.03%) candidates scored from 6 to
10 marks, which is a good performance.

Generally, the performance of the candidates in this question was
good since 672 (75.34%) candidates passed by scoring from 7 to 20
marks. Their performance is shown in Figure 8.
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Figure 8: The Performance of the Candidates in Question 8

The candidates with weak performance had limited knowledge of
the subject matter. They failed to compute accurately the amounts
of depreciation and disposal of machinery accounts. Further
analysis suggested that they lacked knowledge of the procedures
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and techniques needed for the computation of depreciation of fixed
assets and disposal account especially when asked to compute for
the range of more than one year. Extract 8.1 is a sample of incorrect
response from one of the candidates.
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Extract 8.1: A sample of an incorrect response to Question 8

In Extract 8.1 the candidate failed to record correct transactions
concerned with provision for depreciation and its machinery

disposal accounts. They posted wrong figures in their respective
accounts.

The candidates with average performed managed to prepare the

required accounts and most of their entries of machinery, provision

for depreciation on machinery and disposal accounts were posted

correctly. However, they failed to compute some of the provision
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for depreciation on machinery account and machinery disposal
account.

On the other hand, the candidates with good performance
demonstrated sufficient knowledge and competence in accounting
for depreciation and disposal of non-current assets. Most of them
correctly opened the required accounts, analysed the information
provided in the question into entries which should be recorded in
the machinery, provision for depreciation on machinery and
machinery disposal accounts. Also, they computed the amounts of
depreciation charges correctly and made correct entries for them in
the accounts. Extract 8.2 is a sample of a good response from one of
the candidates.
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Extract 8.2: A sample of a correct response to Question 8

In Extract 8.2, the candidate recorded correctly all the transactions
in  machinery account, provision for depreciation account and its
machinery disposal account.
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2.2

2.2.1

Analysis of the candidates’ performance in 153/2 Accountancy 2
The paper consisted of eight (8) questions from eight (8) topics
namely: Auditing, Payroll Accounting, Stock Valuation Accounting,
Cost Accounting, Company Accounts, Containers Accounts, Hire
Purchase Accounting, and Partnership Accounting. The candidates’
response analysis for each question is as follows:

Question 1: Auditing

The question intended to measure the candidates’ competence in
auditing. Specifically, it required the candidates to briefly explain
the following accounting terms:

(a) Audit report

(b) Letter of management
(c) Letter of engagement
(d) Letter of representation

A total of 1,551 (100%) candidates attempted this question. The
analysis of the candidates’ performance shows that 1,042 (67.18%)
candidates scored 6 to 10 marks which is good performance, 338
(21.79%) candidates scored from 3.5 to 5.5 marks, which is an
average performance, and 171 (11.03%) candidates scored from 0 to
3 marks indicating weak performance.

Generally, the performance of the candidates in this question was
good since 1,380 (88.97%) candidates passed by scoring from 3.5 to
10 marks. Figure 9 shows the performance of the candidates in this
question 1.
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Figure 9: The Performance of the Candidates in Question 1
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The analysis shows that candidates who performed well in this
question correctly explained the given auditing terms. Their scores
ranged from 6 to 10 marks depending on the level of relevance,
clarity and support provided in their answers. Extract 9.1 is a
sample of a good response from one of the candidates.
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Extract 9.1: A sample of good response to Question 1

In Extract 9.1, the candidate provided correct explanations of the
four audit documents provided.

Further analysis shows that the candidates with average
performance managed to provide relevant and clear explanations on

one or two of the given terms. Their scores ranged from 3.5 to 5.5
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marks depending on the level of errors and clarity of their
explanations. Their average performance implies that they had
satisfactory understanding of auditing documents.

On the other hand, the candidates who had weak performance
lacked knowledge about terminologies used in auditing, especially
audit report. The candidates under this category could not explain
all the given terminologies. Some of them failed to give clear
explanations because of lack of English language proficiency.

For example, one candidate explained the term audit report as
statements directly show the efficiently of audit opinion instead of
the statement of professional recommendations prepared and
submitted by the auditor to the shareholders to the members of the
company or entity.

Another candidate described a letter of management as a document
which guide auditor to examine financial statements. Instead of
document written by the auditor to the management to draw
attention of the management of the company towards shortcomings
and weaknesses in the company internal control system. Extract
9.2: Shows a sample of incorrect response from one of the
candidates.
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Extract 9. 2: A sample of an incorrect response to Question 1

In Extract 9.2, the candidate provided incorrect explanations on the four
audit documents provided.

Question 2: Payroll Accounting

The question intended to assess the candidates’ competence in the
preparation of employee’s, salary slip, and general journal.
Specifically, the question required the candidates to use the
information provided to prepare Melinda’s salary slip and the
general journal to record the payroll for the month ending 31%
August, 2020.

A total of 1,551 (100%) candidates responded to the question. The
analysis of the candidates’ performance shows that 846 (54.55%)
candidates scored from 6 to 10 marks which is a good performance,
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613 (39.52%) candidates scored from 3.5 to 5.5 marks which is an
average performance, and 92 (5.93%) candidates scored from 0 to 3
marks indicating weak performance.

Generally, the performance of the candidates in this question was
good since 1,459 (94.07%) candidates passed by scoring 3.5 to 10
marks. Their performance is summarised in Figure 10.
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Figure 10: The Performance of the Candidates in Question 2

The candidates with good performance were able to prepare the
employee’s, salary slip, and general journal. The candidates
correctly computed the amounts of basic salaries for the employees,
monetary allowances, gross salaries and the amounts of deductions
from the employee’s salaries.

These good responses to the question indicate that the candidates
were competent in the preparation of employee’s, salary slips, and
their general journal. Extract 10.1 is a sample of good response
from one of the candidates.
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Extract 10.1: A sample of a correct response to Question 2

In Extract 10.1, the candidate prepared Melinda’s salary slip and
general journal with correct entries.

Further analysis indicates that the candidates with average
performance lost some marks because of errors in their salary slips
and general journal. They incorrectly computed the amounts of
gross pay and some other deductions. Incorrect figures presented
resulted in computation of incorrect amounts of the employees’ net

pay.

Moreover, the candidates who had weak performance failed to
prepare the salary slips and general journal of Melinda. They failed
to compute the amounts of basic salary, allowances, and the

deductions from the employee’s salaries. They computed and
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recorded incorrect amounts of the employee’s earnings and made
incorrect deductions. Extract 10.2 is a sample of an incorrect
response from one of the candidates.
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Extract 10.2: A sample of an incorrect response to Question 2

In Extract 10.2, the candidate prepared only one account out of the
two which are Melindas salary slip and general journal but posted
incorrect figures of basic salary, and meal allowance which led to
the incorrect amount of gross pay.

2.2.3 Question 3: Stock Valuation Accounting
This question intended to measure the candidates’ ability to prepare
financial statements of inventory in order to determine the cost
value of inventory at the end of the year. Specifically, the question
required the candidates to use the information provided to prepare
the cost value of Frank Ironside Ltd’s Inventory on 31% December,
2019.

A total of 1,551 (100%) candidates responded to the question. The
analysis of the candidates’ performance shows that only 4 (0.26%)
candidates scored from 6 to 10 marks which is a good performance,
233 (15.02%) candidates scored from 3.5 to 5.5 marks, which is an
average performance, and 1,314 (84.72%) scored from 0 to 3 marks,
indicating weak performance.

Generally, the performance of the candidates in this question was
weak since 1,314 (84.72%) candidates failed by scoring from 0 to 3
marks. The general performance of the candidates in this question
is summarised in Figure 11.
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Figure 11: The Performance of the Candidates in Question 3

The analysis indicates that the candidates with weak performance,
failed to adhere to the requirements of the question. The majority of
them were not able to prepare the statement of value of inventory
and calculate the inventory cost value at the end of the year.

Other candidates showed correct statements of value of stock but
recorded incorrect amounts of bad debts, return outward, different
profit margins, goods sent on sale and returns, under casted stock,
purchases, carriage inward and return inwards. Such candidates
demonstrated lack of analytical skills in classifying the accounts.
Also, other candidates reversed some entries in their accounts.
Extract.11.1 is a sample of incorrect response from one of the
candidates.
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Extract 11.1: A sample of an incorrect response to Question 3

In Extract 11.1, the candidate prepared statements of computing
stock but they entered incorrect amount of sales, return inward,
goods sent to customer, gross profit, purchases, and carriage
inwards. The candidate failed to correctly calculate the amount of
inventory cost value.

The candidates with average performance were able to meet some
of the requirements of the question. They prepared statements of
value of inventory and correctly entered some of the entries like
sales, return inwards, gross profit and purchases. However, they
entered incorrect figure of other entries like goods sent and carriage
inwards. Also, it was noted that the candidates under this category
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could not correctly calculate the amount of cost value of inventory.
On the other hand, the candidates who demonstrated good
performance had good knowledge of the subject matter of inventory
valuation. They used appropriate rates to prepare the correct
inventory cost value.

However, errors and omissions were also observed in their
responses. The good performance could be attributed to the
candidates' sufficient knowledge and competence the topic of in
Stock Valuation topic. Extract 11.2 is a sample of a good response
from one of the candidates.
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Extract 11.2: Sample of a relatively correct response to Question 3

In Extract 11.2, the candidate correctly prepared the statement of
the value of closing stock, but they failed to calculate the amount of
closing inventory on 31% December, hence they obtained
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1,887,600/= instead of 1,359,920/=. This was due to wrong posting
of the amount of expired inventory, profit margin in sales and profit
margin on the amounts of sent goods.

2.2.4 Question 4: Cost Accounting
This question intended to test the candidates’ competence in
preparing cost statement by showing marginal cost and profit or
loss, calculating break-even point, and proving that total revenue is
equal to total cost at break-even point.

A total of 1,551 (100%) candidates responded to the question. The
analysis of the candidates’ performance shows that 671 (43.26%)
candidates scored from 6 to 10 marks, which is a good performance,
564 (36.37%) candidates scored from 3.5 to 5.5 marks, which is an
average performance, and 316 (20.37%) candidates scored from 0 to
3 marks, indicating weak performance.

Generally, the performance of the candidates in this question was
good since 1,235 (79.63%) candidates passed by scoring from 3.5 to
10 marks as shown in Figure 12.
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Figure 12: The Performance of the Candidates in Question 4

The candidates with good performance were able to prepare the cost
statement for SBC Ltd and post all the required data to obtain the
required profit for the month which was TZS 84,130,000/=. Also,
they were able to calculate break-even point in the number of
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bottles and in revenue value as well as prove the equality of the

equilibrium point of total revenue and total cost. Extract 12.1 is a

sample of a good response from one of the candidates.
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Extract 12.1: A sample of a good response to Question 4

In Extract 12.1 the candidate accurately prepared the statement of
marginal cost, calculated break even points and proved that the total
revenue is equal to total cost at break-even point.

On the other hand, the candidates with average performance were
able to prepare statements showing marginal cost but most of them
did not feed all the required entries, and consequently got incorrect
profit. Despite the shortcomings displayed, the candidates were able
to calculate break even points and prove that the total revenue is
equal to total cost at break-even point.

Besides, the analysis shows that the candidates with weak
performance did not have sufficient knowledge of the subject matter
of cost accounting. Their responses were characterised by a mixture
of correct and incorrect answers. Most of them failed to prepare the
cost statement for the month, calculate the break-even points, and
prove that total revenue is equal to total cost at break-even point.
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Extract 12.2: A sample of an incorrect response to Question 4

In Extract 12.2, the candidate calculated incorrect break-even point
and showed incorrect relation between total revenue and total cost
at the break-even point.

2.2.5 Question 5: Company Accounts
The question intended to assess the candidates’ ability to prepare
accounting entries for a company. Specifically, the question
required the candidates to use the given information to prepare
bank, ordinary shares application, ordinary shares allotment, 1% call,
2™ call, 3" call, ordinary share capital, forfeited shares, re-issued
shares and ordinary share premium accounts.

A total of 1,174 (75.69%) candidates responded to the question. The
analysis of the candidates’ performance shows that 936 (79.72%)
candidates scored from 12 to 20 marks, which is good performance,
150 (12.78%) candidates scored from 7 to 11.5 marks, which is an
average performance, and 88 (7.50%) candidates scored from 0O to
6.5 marks, indicating weak performance.
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Generally, the performance of the candidates in this question was
good since 1,086 (92.50%) candidates passed by scoring from 7 to
20 marks. The general performance of the candidates in this
questions is shown in Figure 13.

7.50%

12.78% Scores

m0-6.5
o7-11.5
mi2-20

Figure 13: The Performance of the Candidates in Question 5

The candidates who had good performance were able to prepare the
required accounts accurately. Also, they accurately computed the
amount of money receivable on application, allotment, first call,
second call, third call and the amount of share premium accounts.
Also, they made correct entries in the bank, share application, share
allotment, first call, second call, third call and ordinary share capital
accounts. Extract 13.1 is a sample of a good response from one of
the candidates.
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Extract 13.1: A sample of a good response to Question 5

In Extract 13.1, the candidate prepared accurately all the accounts

as required.
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Furthermore, the candidates who had average performance prepared
bank, ordinary share application and allotment, ordinary share
capital and opened the required ledger accounts but failed to prepare
15t call, 2™ call, 3" call, forfeited shares and re-issued shares
accounts. Also, most of their entries of the amount posted in the
relevant accounts were incorrect.

Moreover, the candidates who had weak performance did not have
sufficient knowledge of the subject matter since their responses
were characterised by many incorrect answers. Most of them did not
prepare bank, ordinary share allotment, ordinary share capital,
ordinary share premium accounts, and all three calls.

Also, other candidates recorded inaccurate amounts in application,
allotment, first call, second call, third call and share premium
accounts. Others could not establish the amounts to be banked on
each of the applications, allotment and call instalments.

On top of that, some of them failed to open all of the required
accounts as they skipped five to six of the required accounts. This
indicates that the candidates were not competent in the preparation
of accounting entries for the company. Extract 13.2 is a sample of
an incorrect response from one of the candidates.
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Extract 13.2: A sample of a relatively incorrect response to

Question 5
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In Extract 13.2, the candidate prepared the bank account and
ordinary share application accounts but failed to prepare other
accounts as per the requirements of the question.

2.2.6 Question 6: Container Accounts
The question intended to assess the candidates’ ability to prepare
containers stock accounts using the suspense method. Specifically,
the question required the candidates to use the information provided
to prepare the containers stock and containers suspense accounts in
the books of LG & Company.

A total of 1,447 (93.29%) candidates responded to the question. The
analysis of the candidates’ performance shows that 1,199 (82.86%)
candidates scored from 12 to 20 marks, which is good performance,
198 (13.68%) candidates scored from 7 to 11.5 marks, which is an
average performance, and 50 (3.46%) candidates scored from 0 to
6.5 marks, indicating weak performance.

Generally, the performance of candidates in this question was good
since 1,397 (96.54%) candidates passed by scoring from 7 to 20
marks as summarized in Figure 14.

3.46%

13.68% Scores

m0-6.35
o7-11.5
m12-20

Figure 14: The Performance of the Candidates in Question 6

The analysis shows that the candidates with good performance were
able to prepare the required accounts accurately. Also, most of them
managed to record and post all the transactions in the containers
stock account and containers suspense account correctly.

49



Extract 14.1 is a sample of a correct response from one of the

candidates.
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Extract 14.1: A sample of a correct response to Question 6

Further analysis indicates that the candidates with average
performance omitted some of the transactions from the accounts and
used incorrect explanations and amounts for some transactions. In
addition to that, other candidates reversed one or two of the entries
in the containers’ stock account or in the containers’ suspense

account.

Furthermore, the candidates with weak performance managed to
draw a sketch of container stock account and containers suspense
account accurately but failed to apply the principles of double entry
in recording transactions. They recorded some items once, and
reversed some of the entries or posted some of the entries in the
wrong side of the accounts. Moreover, some of them recorded
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incorrect amounts in their accounts prepared. Such candidates failed
to interpret the information provided in the question. Extract 14.2 is
a sample of incorrect response from one of the candidates.
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Extract 14.2: A sample of an incorrect response to Question 6

In Extract 14.2 the candidate prepared container stock account and a
container suspense account but posted wrong amounts for customer,
warehouse and suspense.

2.2.7 Question 7: Hire Purchases
The question intended to assess the candidates’ competence in
preparing higher purchases income statement. Specifically, the
question required the candidates to use the information provided
from the Henry Rook business to prepare their income statement for
the financial year that ended on 31% December, 2019.

A total of 794 (51.19%) candidates responded to the question. The
analysis of the candidates’ performance shows that 233 (29.35%)
candidates scored from 12 to 20 marks, which is good performance,
470 (59.19%) candidates scored from 7 to 11.5 marks, which is an
average performance, and 91 (11.46%) candidates scored from 0 to
6.5 marks, indicating weak performance.
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Generally, the performance of the candidates in this question was
good since 703 (88.54%) candidates passed by scoring from 7 to 20
marks as shown in Figure 15.

70 T
59.19

=
=
!
f

7] . n
= = =
| | |
T T T

(=

ro
=
|
T

Percentage of Candidates
[y
Nl
d
n

—_
= =
!
f

0-6.5 7-11.5 12-20
Scores

Figure 15: The Performance of the Candidates in Question 7

The analysis shows that the candidates who had good performance
were able to use the appropriate rates to prepare hire purchases
income statement. Their calculation of higher purchases sales,
ending inventories, unrealized profit, gross profit and purchases was
correctly presented. All income and expenses entries were well
presented in the income statement, hence they obtained a correct net
profit. Extract 15.1 is a sample of correct response from one of the
candidates.
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Extract 15.1: A sample of a good response to Question 7

purchases.
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Further analysis of the candidates’ performance indicates that those
with average performance were able to open the required income
statement in their proper formats, but some errors and omission
were noted in their responses. Their performance suggests that they
had satisfactory knowledge and competence in accounting for hire




On top of that, the candidates who had weak performance failed to
meet the requirements of the question. The majority failed to
prepare the hire purchases income statement. Some of them
recorded correct amounts with wrong explanations while others
reversed some entries in their accounts, indicating lack of analytical
skills in classifying the entries in their accounts. Extract 15.2 is a
sample of incorrect response from one of the candidates.

7 MW ORMING €
4. Sallas
Cafl guday = 300 X SO0,dwv
W sdas = 50X 5&0 0T
Q4 C(a.'\ﬂ( d}\&
Vil LoD — 360 — 4§50 = o
(oik- . ToX %¥woto = Qo cuy
3. Pealied & unedted pofli
De 1P bee®as Acouw? (T2¢'000’) - G

{50 cwo gdo
264 guo gun

0o

Doy Aok || Debdy | Aneade
#P ales 2610 || Gotwe fon dobory | TO oD
: Balowe /4 90,%00

261 6 261 o

Paalfnd @ %000 x 7o cocdin = %6 C&R,LBE

Ego, om0
Dnrediad: @ cvo X (90400 = (31,210,348
B&0 g0
Ry K TRADING AcCounNT T2 [
C&SJII\LL(B@LL ;20,0040 guo H’P(G\QM 26 L 000, VO
ol qabes o000
- Baeadned | e 489655
_ Qealingd 15,310,247

Extract 15.2: A sample of an incorrect response to Question 7

In Extract 15.2, the candidate prepared the higher purchases trading
accounts instead of income statement as per the requirements of the
questions.
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2.2.8 Question 8: Partnership Accounting
The question intended to assess the candidates’ competence in
preparing partnership accounts. Specifically, the question required
the candidates to use the information provided to prepare the
revaluation account, cash account, and partners’ capital accounts.

A total of 1,237 (79.75%) candidates responded to the question. The
analysis of the candidates’ performance shows that 16 (1.29%)
candidates scored from 12 to 20 marks, which is good performance,
1,035 (82.38%) candidates scored from 7 to 11.5 marks, which is an
average performance, and 202 (16.33%) candidates scored from 0 to
6.5 marks, indicating weak performance.

Generally, the performance of the candidates in this question was
good since 1,035 (83.67%) candidates passed by scoring 7 to 20
marks. Their performance is summarised in Figure 16.

Scores
m)-65
o7-11.5

mi2-20

Figure 16: The Performance of the Candidates in Question 8

The analysis of the performance shows that the candidates with
good performance managed to prepare the revaluation account,
cash account, and partner capital account for Arnold, Bester and
Cheddy. They were also able to make correct entries in the relevant
accounts, including posting the correct entries like stocks,
commission, goodwill and realization. This indicates that the
candidates had sufficient knowledge and competence in accounting
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for partnership. Extract 16.1 is a sample of a good response from
one of the candidates.
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Extract 16.1: A sample of a good response to Question 8
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In Extract 16.1, the candidate prepared and entered correct
transactions and amounts in cash and partner capital accounts.

Further analysis indicates that the candidates with average
performance adhered to the requirements of the question by opening
the required revaluation and cash accounts, but in their partnership




capital accounts there were some errors and omissions of some
entries which hindered them from scoring good marks.

On top of that, the candidates who had weak performance failed to
prepare the revaluation, cash and partner capital accounts correctly.
Others entered a mixture of correct and incorrect amounts and could
not apply the principle of double entry in recording and posting
entries in the accounts as required.

In addition, some candidates under this category entered a mixture
of assets and liabilities in the partners’ capital accounts. This
indicates that the candidates were not competent in accounting for
revaluation of partnership. Extract 16.2 is a sample of incorrect
response from one of the candidates.
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Extract 16.2: A sample of an incorrect response to Question 8

In Extract 16.2, the candidate entered wrong transactions and
amounts in cash and partners’ capital accounts.
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3.0

ANALYSIS OF THE CANDIDATES’ PERFORMANCE
PER TOPIC

The analysis of the candidates’ performance in each topic indicates that 13
out of the 15 topics examined in 2023 had good performance, 1 topic had
average performance, and 1 topic had poor performance.

The candidates had good performance in the following topics: Preparation
of Financial Statements (99.87%), Financial Statements Analysis and
Interpretation (96.84), Containers Accounts (96.54), Branch Accounting
(95.32%), Payroll Accounting (94.07%), Company Accounts (92.50%,),
Investment Accounts (91.80%), Auditing (88.97%), Hire Purchase
Accounting (88.54%), Partnership Accounting (83.67%), Cost accounting
(79.63%), Depreciation and Disposal of Non-Current Assets (75.34%) and
The Nature and Context of Accounting (74.18%).

The analysis of the candidates’ responses further shows that the candidates
had an average performance in the topic of Correction of Accounting
Errors (38.43%).

However, the analysis further shows that the topic of Stock Valuation
Account had weak performance (15.28%). The candidates’ performance per
topic is summarized in Appendix A.

Comparison between the results of 2023 and those of 2022 shows that the
performance has improved in the topics of Hire Purchase Accounting,
Branch Accounting, Company Accounts, Investment Accounts, Auditing,
Financial Statements Analysis and Interpretation, Partnership Accounting,
Cost Accounting, Depreciation and Disposal of Non-current assets, and
The Nature and Context of Accounting but it has decreased in the topics of
Preparation of Financial Statements, Payroll Accounting, Stock Valuation
Accounts, Containers Accounts and Correction of Accounting Errors.
According to the analysis, the fall of performances in these topics was
because of the candidate’s failure to meet to the requirement of the
question, failure to apply double entry principle in recording transactions,
failure to make adjustment of other entries and failure to compute the
amount to be posted to different accounts.
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4.0

CONCLUSION AND RECOMMENDATIONS

4.1

4.2

Conclusion

The general performance of the candidates in 153-Accountancy
(ACSEE) 2023 was good since 1,544 (99.68%) candidates passed
the examination by scoring grade A to S. The performance for 2023
has dropped by 0.25 per cent from (99.93%) in 2022 to 99.68% in
2023 as summarized in Appendix B.

The analysis indicates that the candidate’s good performance is a
result of adequate knowledge and competences of the candidates in
the tested topics, ability to interpret the questions, ability to provide
relevant and clear explanations of the accounting concepts in their
responses, ability to apply the principles related to the subject and
ability of applying appropriate formulas to compute the required
amount. The candidates with weak perfomance lacked such skills.

Recommendations

In order to maintain the candidate’s good performance in the topics

with good performance and improve performance in the topics with

weak and average performance, it is recommended that:

(a) In the topic of correction of accounting errors which had weak
performance, teachers should use charts of accounts to guide
students on how to prepare journal and ledger accounts to
correct errors that affect trial balance. Moreover, in the topic of
stock valuation account teachers should demonstrate to their
students how to prepare an income statement that shows the
effects of assets destroyed by using charts of accounts.

(b) Since some candidates demonstrated poor masterly of English
language, teachers should encourage students to develop a
habit of reading a variety of texts written in English language
like novels, articles, plays and newspapers. They should
practice the language in order to improve their listening,
speaking and writing skills in the English language.

(c) Teachers should provide more assignments, quizzes, tests and
internal examinations with immediate feedback in order to
develop student’s ability to interpret the questions and solve
other challenges wuncounted in attempting examination

questions.
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Appendix A

Summary of Candidates' Performance per Topic

S/n

Topic

ACSEE 2023

Question
Number

Percentage of

candidates Remarks

Preparation of
Financial
Statements

Financial
Statements
Analysis and
Interpretation

Containers
Accounts

Branch Accounting

Payroll Accounting

Company Accounts

Investment
Accounts

Auditing

O (o0 | AN|n|h| W

Hire Purchase
Accounting

Partnership
Accounting

11

Cost accounting

12

Depreciation  and
Disposal of Non-
Current Assets

13

The Nature and
Context of
Accountancy

14

Correction of
Accounting Errors

15

Stock valuation
account
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Paper 1 |Paper 2

who scored 35
% or above

|
|
|
|
|



Appendix B

Comparison of Candidates’ Performance between 2022 and 2023
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